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10.

11.

12.

Part A (Short answer questions)

Answer all questions. Each question carries 3 marks.

Suppose that ff f(z)dz = —4, ff’ f(z)dz = 6, ff’ g(z)dz = 8. Then evaluate
(@) [{ 3f(z)dz, (b) [; g(z)dz.

Evaluate (a) Z,ﬁil k and (b) Z,ﬁil k3.
Evaluate [ (z? —2z+5)dz .

Find (a) =£In2z and (b) -In(z? + 3)

% 4cosf
Evaluate

%3—|—251n0 '
o Vli+z—1
Compute lim ——
z—0 €T
Evaluate the int 1/ dz
valuate the integra
(:B+1)Vm2+2w

Evalaute the integral / 3+/sinwv cos v dv

2

Find the area between y = sec” z and y = sin z from 0 to 7/4.

Find the surface area when y = 2z is revolved about the x -axis from x = 0 to

r=3

Part B (Paragraph questions/Problem)

Answer all questions. Each question carries 6 marks.

Evaluate (a) [+/1+y2.2ydy and (b) [z?sin(z®)dz using substitution
method.

Find the average value of f(z) =z?—1 on [0,+/3] . At what points on the

given interval does the function assumes its average value?
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1 z
Evaluate (a) / 3z%y/z® + 1dzx (b) / " cot Besc? 0 .do.
—1 s

4

Solve the initial value problem % = ¢ sin(e! — 2), y(In2) = 0.

Using integration by parts compute || 12 rlnzdx

4
Using method of partial fractions evaluate / vt dz
z2 + 5z —6

Find the length of the curve y = %ﬁw3/2 -1, 0<z<1

Find the volume of the solid generated by revolving the region bounded by

y = 4/ and the lines y = 1, = 4 about the line y = 1.

Part C (Essay questions)

Answer any one question. The question carries 10 marks.

(a) Find the area of the region between the - axis and the graph of
flz)=2% 2% —2z,-1<z<2.
(b) Express the solution of the following initial value problem as an integral:

j—z =tanz,y(l) =5.

Find the area of the region in the first quadrant that is bounded above by y = /x

and below by the x—axis and the line y = x — 2.
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